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Online Prelims TEST - 27 (SUBJECT WISE)

Consider the following statements. BASIC group countries put together account for about
1. One-third of the World’s geographical area (land based)

2. Two-third of World’s human population

Select the correct answer using the codes below.

A.1lonly B. 2 only C.Both1and 2 D. None of the above
‘The Gandhian Challenge’, launched by NITI Aayog is a platform for promoting

A. Hygiene and sanitation in schools

B. Innovative solutions for a sustainable India

C. Policy coordination amongst local bodies

D. Efficient administration at a cluster level within a particular state

A Geotail would not be formed if there was no

1. Solar wind 2. Magnetic field produced by Earth

Select the correct answer using the codes below.

A. lonly B. 2 only C.Both1land 2 D. None of the above
Lunar Reconnaissance Orbiter (LRO) is a mission of

A. ISRO B. Space X C. NASA D. European Space Agency

Consider the following statements about the provisions of Article 13 and related judgments of the

Supreme court with regards to its implementation.

1. Statutory instruments in the nature of delegated legislation come under the ambit of Article 13.

2. A constitutional amendment is not to be recognized as a law and thus cannot be challenged under this
Article.

3. Non-legislative sources of law, that is, custom or usage having the force of law can be challenged under
Article 13.

Select the correct answer using the codes below.

A.1and 3 only B. 1 only C.2and 3 only D. 2 only
National Policy on Universal Electronic Accessibility is based on India’s commitments to and has a
bearing on

1. The United Nations Convention for the Rights of Persons with Disabilities

2. The Proclamation on the Full Participation and Equality of People with Disabilities in the Asia Pacific
Region, 1993

3. The Biwako Millennium Framework for action towards an inclusive, barrier free and rights based
society, 2002

4. Beijing Declaration and Platform for Action (PFA) (1995)

Select the correct answer using the codes below.

A.1and 2 only B. 3and 4 only C.1,2and 3only D.1,2,3and 4
Gautama Buddha attained Parinirvana in
A. Piprahwa B. Kushinagara C. Sanchi D. Vaisali

The objectives of Rashtriya Gokul Mission (RGM) include

1. Development and conservation of indigenous breeds

2. Distribution of disease free high genetic merit bulls for natural service

3. To arrange quality Artificial Insemination (Al) services at farmers’ doorstep

4. To create e-market portal for bovine germplasm for connecting breeders and farmers

Select the correct answer using the codes below.

A.1,2and 3 only B. 1,2 and 4 only C.3and 4 only D.1,2,3and 4

Recent discovery of new moons of this planet makes it the planet with the highest number of moons
in the Solar system:

A. Jupiter B. Neptune C. Saturn D. Uranus

C40 cities World Mayors Summit was held in Copenhagen sometime ago. It was related primarily to
the issue of

A. Immigration B. Climate Change C. Unemployment D. Energy efficiency
The saint “Birbhan” is associated with which of these movements/cults of Medieval India?

A. Nathpanthis B. Satnami movement C. Dharmadasi cult D. Firdausia Cult



